8 f 4 3 2 t
NOTES:
i, USE ONLY APPROVED RADIO-PURE MATERIAL
FOR ALL METRIC BRASS SCREWS
PLAN VIEW
{138 236364i-7  O-RING TABULATION, (BUNA-N, PARKER P-g6l R QL)
1|37 _2363641-9  O-HING TABULATION, (BUNA-N, PARKER 2-260 OR EOL)
1136 236364-8 O-RING TABULATION, (BUNA-N, PARKER 2-244 [ EOL)
!_{35 2363641-11 O-RING TABULATION, (BUNA-N, PARKER 2-238 OR EOL)
34
33
32
i e SCREW, SCH, W4 X 07 - 4a6g X 2Pmn |, BRASS
[_ I 3% 130 SCREW, SCH, M5 X 08 ~ 406 X 1énm L, BRASS
1 m 16_ 23 SCREW, SCH, 10-24 UNC~24 X 374 L, CRES
: M SCREW, SCH, M3 X 05 - 4g6g X I6mn L, CRES
/ ° e 1827 SCREV, SCH, M4 X 0.7 - dgég X 16n L, BRASS
...... e s e, cmmmmmmnmimme | i s e o oo 16|26 SCREW, FLH, 4-40 UNC=2A X 1/4 L, BRASS
2815 SCREW, SCH, M3 X 05 - dgbg X 1omm L, BRASS
ve 24
s - REF |23 STRIP-LINES, SIGNAL
22
L {121 2363396 DRAZEMENT, NITROGEN THERWAL INTERCEPT, E-STEM
e 1_[20 28G3722__ RIMs, RETAINING, NTI BRAZEMENT, E-STEM
1] 2363283 FLANGE, BLANK-TFF, E~STEM
ELEVATION | 18 pah3484 SPIDER-SUPPORT ASSY, E-STEM, LM
I |17 2d53%3  HAUF B*, NITROGEN THERWAL INTERCEPT, E~STEM
1_1i6 23273 HAUF *A°, NITROGEN THERMAL INTERCEPT, E~STEM
16|15 263381 BLOCK, STOP, SPIDER-SUPPORT, E-STEM
{_ |4 2363353 SPIDER-SUPPORT ASSY, E-SIEM, Le
|13 2344 GAMMA-SHIELD, DUTER, E-STEM, LHe
112 eXu7e  SHIELD-SECTION, E-STEM, LN
§ |1 22(3526  SHHLD-SFCTION, E-STEM, OVC
1[I0 23452 GASKET, GAMMA-SHIELD
1 1§ 2363332 RING, COUPLING, F-STEH, Lie
{ |8 2363463 _ FLANGE, ADAPTER, £-STEN, LN
{ |7 2363553 HALF ‘B, GAMMA-SHIELD, INNER, E-STEN
1|6 2363263 HALF 'A’, GAMMA-SHIELD, INVER, E~STEM
1 |5 2363516 E-STEW, OVC
I | 4 2363434 E-STEM, LN
L |3 2863304 E-STEM, LHe
1 12 2363543 HALF "B* HELIUM THCRMAL INIERCEPT, E-STEM
I |1 263853  HAUF ‘Ar, HELTUM THERMAL INTERCEPT, E-STEM
REGD|ITEM | PART WL DESCRIPTION
HLESS GTHIRVISE SPECIFIED SHOP_CRIERS LAWRENCE BERKELEY LAEORATORY
@l WL 11764 | IEF [ UNIVERSITY OF CALIFERMIA-LERKELEY
Slotoe [y [WEOEE T WINP_DETECTOR
Blorp s freen s[RI WIMP_DETECTOR CRYDSTAT ASSY
DOESEEOMSE BFACE £-STEM ASSY
mﬁwmmmmm-ﬁ %‘qk TAG PATENT (LEAR JACENE N7 A T HALF !iﬁp“_
PO ?ﬁgﬁ@%ﬁ%&a vIX Hhp L OFT Bk -8 12e6asl6 e SE RV,
?ﬁmmxm mm’;m"m Bt Yol6e83 FETTTEY DT O R [T
REV | IWG | Cii [ZE ) TATE CHANGES PITERHES: KEET 7148 & DAL ax g AR R 7916-05 22G3536
i 4 3 ! 3




